@
==

\!

o NG
// A
.\.\

),

®@-4pcs

@-2pcs

H-4pcs

®-12pcs

G-8pcs
M8x18

AR
A\ /// .
M\
\\»\\»\V////s.»l/l@ o @ . 8 0 o
//V/\.@ m_p @w 5 e =3
o P 3 m )




2X

QTY

4

—= M6X55

QTY

8

CODE HARDWARE

M6X15

)

CODE HARDWARE




[

2\

HARDWARE QTY
"
- J 4
K 4
N

2
- CODE | HARDWARE QTy
F o M8X35 8
G = M8X18 8




WA

CODE | HARDWARE QTyY
B (/= M6X30 8
E & M6 8
ﬁ x4
5
,ﬂ/<
=g
X2 CODE | HARDWARE QTyY
B (—w M6X30 2
C f— M6X55 4




Thank you for your purchase, we hope you enjoy your product. If so please do
leave a 5 star feedback on Home Treats Trust Pilot page. * * * * *

In the unlikely event of a problem please contact our customer service from the
purchase website, we are on hand to help solve the issue in a matter of hours.
hometreatsuk.com Email: service@hometreatsuk.com Phone: 0161 250 9393

i m hometreats

Lab  <--Activate your extended product warranty. Please scan the
code or register at https://hometreatsuk.com/warranty/
Made in China for Doodle Products Ltd, OL10 2TR  Production Ref: T003




